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Use of a non-programmable pocket calculator is permissible
Closed book examination

This examination question paper remains the property of the University of South Africa and may not be
removed from the examination venue

This paper consists of 17 pages including 2 pages for rough work, plus mstructions for completing a
mark-reading sheet

This paper compnses THREE sections

Section A consists of TWENTY multiple choice questions of 1 mark each The answers to these
questions must be indicated on the mark reading sheet provided Indicate your student number and
the unique number 477055 on the mark reading sheet

Section B comprises TEN True/False questions These questions must be answered in the
designated areas on the paper

Section C compnses SIX paragraph questions These guestions must be answered in the designated
areas on the paper

Please note

1 This is a partial fill-in examination paper and there 1s no need for any examination
scripts Students must hand over the examination paper and the mark reading
sheet to the ivigilator before leaving the examination hall Students must answer
the questions In Sections B and C in the spaces provided on the examination
paper.

2 Any silent, non-programmable, battery operated pocket calculator may be used.

3 Pages for rough work have been provided at the end of the paper. No rough work
will be marked.
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SECTION A: _MULTIPLE-CHOICE QUESTIONS

Indicate the correct answer to each question on the mark-reading sheet as well as on the
examination paper,

Question 1

Choose the correct statement

1 Insurance agents sell insurance as theirr main occupation

2 Brokers may have an agency agreement with different insurers
3 Insurance agents are also sometimes called claims assessors
4 Loss adjusters are responsible for the settlement of claims
Question 2

Adverse selection

1 can result in lower losses than expected

2 are reduced by introducing clauses such as a suicide clause

3 refer to the tendency that people with lower probability of loss than the average seek insurance
4 are increased by introducing compulsory medical examinations when applying for policies
Question 3

A strike in the mining industry in South Africa 1s a typical example of a(n)  nsk

1 Insurable

2 fundamental
3 particular

4 speculative

Question 4
Lloyds

have underwritten the voice of Bruce Springsteen
1s not an insurance company

operate worldwide

invented the term underwnting

O on

Choose the correct combination

all of the above
ab.c

b,c

ac

AWK =
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Question §

A proposal form

a 1 an offer by the insurer to the insured to do business

b can be used to advertise other products available from the nsurer
c elicits a quotation

d establishes a warranty

Choose the correct combination

1 a,b,c,d
2 b,c.d

3 cd

4 a.c
Question 6

Consideration in terms of insurance policies

1 defines the conditions of a policy

2 15 not essential for concluding a contract

3 refers to the terms and conditions in the policy
4 refers to the extensions of the policy
Question 7

Indicate which of the following 1s likely to be covered in terms of a Personal Accident policy

1 A man injured when picking up a heavy box

2 A women dying two years after being injured in a car accident

3 A worker sustaining lung cancer as a result of working in an asbestos plant
4 A man murdered by thugs on his way home from work

Question 8

The following 1s/are exceptions in terms of liability covers in a domestic package

a L.iabity ansing from conduct of business for reward
b Liabilty for the death of the policyholder
c
d

Liability arsing from the neghgent use of a firearm
Lrability ansing from the consequences of a bad slice at golf

Choose the correct combination

ab,d
ab,cd
ab
acd

BN =
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Question 9

Under motor cycle insurance

B N

there 1s no cover for the motor cycle if a passenger 1s being carned on the motor cycle

full cover for the motor cycle and passenger liability can be prowided by adding a pillion
passenger extension to the policy

cover for theft of accessories and spare parts of the motor cycle 1s provided

the dnver of a motor cycle is covered when driving his own as well as another motor cycle

Question 10

Glass insurance

1 provides no cover for plate glass shop counters

2 provides no cover for mirrors

3 1s not subject to average

4 covers the cost of boarding up windows after a loss
Question 11

Hull insurance

HBWON=

15 only available to completed vessels

covers the vessel but not associated machinery
only covers penis on sea

covers collision iability

Question 12

n an insurance policy the cancellation clause will be reflected under the

1 general conditions
2 operative clause

3 specific extensions
4 recital clause
Question 13

In terms of a quota share treaty

W N =

the reinsurer 1s bound to accept a fixed proportion of every nisk

rsk 1 shared on a non-proportional basis between the cedant and reinsurer

the share of the different parties involved in the agreement I1s expressed as an amount

only the amount of excess of the cedant’'s normal capacity for a particular nsk i1s ceded to the
rensurers
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Question 14
Indicate the correct statements
a The solvency margin of a company Is represented by the capital from shareholders and free
reserves of the company
b Policyholders usually prefer higher solvency margins
c Higher solvency margins indicate a higher utlisation of resources
d Shareholders usually prefer higher solvency ratios

Choose the correct combination

a,b,c
a,d
ab
b,c

BW N -

Question 15
A Householders policy covers the content of a private dwelling but can also be extended to include

fire bngade charges

fixed sanitary ware against chipping and scratching

accidental damage to television sets and video cassette recorders
personal effects of guests

aoogn

Choose the correct combination:

ab,cd
a,b,c
b.c
a.cd

Question 16

In terms of Business interruption nsurance the gross profit sum msured can be calculated on the
following basis

PLWN =

1 Net profit less standing charges
2 Turnover plus closing stock, minus opening stock
3 Turnover plus standing charges
4 Net profit plus standing charges

Question 17

An excessive claim reserve will result in

the loss ratio of the tnsurer appearing higher than tt actually 1s
an increase in the share price of the snsurance company

an increase In investments from external sources

a lower solvency margin

PO XN TN
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Question 18

Indicate the correct statement.

Under third party only cover, no cover is provided for the insured's vehicle

Damage to the insured’s recovered stolen vehicle will not be covered under a Third party, Fire
and Thetft policy

The first amount payable under motor insurance 1s cumulative in the case of windscreen excess
in terms of the “pilon passenger extension” ltability cover s provided for injunes to passengers
carned in a side-car of a motor cycle

Question 19

Motor traders internal policies

AW N =

only cover vehicles damaged at the prenuses of the insured
covers the insured’s own vehicles and vehicles in his/her custody
can be rated on a wage basis

cover vehicles temporanly garaged in the course of a journey

aocon

Choose the correct combination

Question 20

An insurer enters into a quota share arrangement with the ceding insurer retaining 60% of any loss How
much will the resnsurer pay if the loss amounts to R80 000 under a R100 000 policy?

R60 000
R80 000
R48 000
R32 000 [20 x 1 =20]

BWN =
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SECTION B: TRUE/FALSE QUESTIONS

THIS SECTION COMPRISES TEN QUESTIONS AND MUST BE ANSWERED IN THE SPACES
PROVIDED. ALL THE QUESTIONS MUST BE ANSWERED.

INDICATE WHETHER A STATEMENT IS TRUE OR FALSE AND PROVIDE A MOTIVATION FOR
YOUR ANSWER. NO MARKS WILL BE AWARDED FOR AN ANSWER WITHOUT A PROPER
MOTIVATION.

Question 1

11 Reinsurance 1s sigmficant to the buyers of insurance because it spreads nisk and assures that all
insurers will charge the same premium for the same risk

True/False

12 A farmer insures his crop for R100 000 The value of the crop 1s R125 000 A loss of R50 000 1s
sustained If the principle of special condition applies, R40 000,00 will be payable by the insurer

True/False

13 The principle of contribution applies to policies of compensation

TruefFalse

14  Pooling is not a prerequisite for nsurance

True/False
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15 Inthe case of life insurance, insurable interest must be present at the time the contract 1s taken
out and when a clam I1s lodged

True/False

16 A jacket torn while passing a gate on your way to work will be covered under All Risks insurance

True/False

17  Annsured has a policy with a R10 000 deductible and a recapture factor of 5% Should a loss
of R50 000 be sustained, the insured will pay a deductible of R8 000

TruefFalse

18  Anunderwrter 1s requested to underwrite a tyre manufactunng plant The sums insured are

Fire R8&0 000 000
L.oss of profits R40 000 000

The underwnter has a net fine of R4 000 000 and can take an additional 50% if the nsk involves
Fire and Loss of profit The underwriter has a nine line surplus treaty The underwriter will need
no facultative reinsurance in this case

True/False
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19  Mr Nel pays the premium of his short-term policy every month to his broker, Mr Hugo Mr Hugo
expenenced a cash flow problem in April and falled to pay over the premiums to the insurer
Durnng April Mr Nel was involved in an accident Mr Nel wall not be able to claim from the insurer
as his premium for Apnl was not paid over by the broker

True/False

110  Mr Naidoo had a Personal Accident Policy He worked in a mine as a shaft manager Dunng
the pasl year he was diagnosed with lung cancer which caused his death His widow was

listed as the beneficiary of the personal accident policy and she will be entrtled to claim from
the insurer

True/False

[10 x 2 = 20]
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SECTION C: PARAGRAPH QUESTIONS

THIS SECTION COMPRISES SIX QUESTIONS AND MUST BE ANSWERED IN THE SPACES
PROVIDED. ALL THE QUESTIONS MUST BE ANSWERED

Question 2 {5 marks)

The organisation for which you are currently working for has a current ratio of 2,5 1 and an asset test
ration of 1,5 1 The average current ratio for similar businesses in the industry 1s 2 1 and 1 1 for the acid
test ratioc With reference to these ratios, comment on the businesses’ capacity to fund some
losses from its working capital.
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Question 3 (5 marks)

Distinguish between conventional and finite insurance. Give three reasons why finte nsurance
might be considered by a business organisation
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Question 4 {5 marks)

Mr Baker approaches you to arrange employers' liabiity cover for hm Assist him by brefly explaning

the functioning of the Compensation for Occupational Injuries and Diseases (COID) Act (130 of
1993) and how i affects him as employer
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Question § {5 marks)

Define proximate cause and explain by means of a practical example how it may influence the validity
of an insurance claim
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Question 6 (5 marks)

You have insured your house for R2 000 000 with ABC Insurer You transfer your bond to another bank
and take out insurance on the house with DEF Insurer for R1 000 000 You do not cancel your insurance
with ABC Insurance company The actual value of your house 1s R2 000 000 A fire breaks out in your
house causing damages of R500 000

Calculate the amount payable by each insurer. Explain the legal principle that applies when an
insured 1s insured by more than one insurer for the same exposure.
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Question 7 {5 marks)

Explain the cover provided under the minor and major imit of Money Insurance

[6 X 5 = 30]
TOTAL MARKS: 70
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DO YOUR ROUGH WORK HERE.
NO ROUGH WORK WILL BE MARKED
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